
Finding fractions and percentages of a whole

Laser Blazer
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My hit rate is
only 50 percent.  I should
be able to do much better

than that!

Activity
To celebrate the end of the year, Michael and five
mates go to Laser Blazer.

1. a. If they share the discount equally, how much
does each of the friends pay to enter?

b. What discount do they receive, as a 
percentage of the normal price?

The game is split into two rounds.  The boys start each
round with a full magazine of 70 shots.  Part-way
through round 1, Michael gets a printout of his score:

2. Check the printouts for each of Michael’s mates.
What percentage of their shots were “hits”?

0 10 20 30 40 50 60 70

Hits

Shots

Proportional Reasoning: Book Two, Levels 3+–4



13

Hits

Shots

44 53
9 hits needed

10 shots remain

Hits

Shots

Hits

Shots

Hits

Shots

Hits

Shots

Hits

Shots

Luke

Tangihaere

Matt

Alex

Ese

After round 1, the boys’ guns are reloaded with 70 more shots.  This time, they all want to
finish with a 75 percent hit rate or better to earn “marksman” rating.  To achieve this, at least
53 of their 70 shots must be hits.

Michael is near the end of the round.  When he checks his stats, he sees the rating slipping
out of his grasp …

3. a. What fraction of Michael’s mates’ remaining shots must be hits if they
are to gain marksman rating?

b. Which of Michael’s mates looks least likely to gain marksman rating?

I need 9 more hits
to make 53, but I’ve only got

10 shots left.  So of those
shots must be hits.
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